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04 CIZ2tSHALALS B X 15,000 0 15,000
O22=HM M= 15,000, 000& = 1Al 15,000
Ch23IIE At S8 576,560 617,784 N4, 224
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o= 24,370
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CI23IIIsSXN3HEH 29 N3 395,870 441,130 N 45,260
Dl 277,109
= 12,876
Al 105,885
307 2Iz2t0| A 395,870 441,130 N 45,260
J| 277,109
= 12,876
Al 105,885
11T A EXAIEEX 395,870 0 395,870
OUSSIEXNJANH 249 A&
395,870,000 x14! 395,870
J| 277,109
= 12,876
Al 105,885
ChESEs S AMHA & 48,546 45,500 3,046
J| 33,982
= 2,913
Al 11,651
307 2I2t0| & 48,546 45,500 3,046
J| 33,982
= 2,913
Al 11,651
11T A EXAIEEX 48,546 0 48,546
OUSFINE SHIAAMHA K&
48,546,000 * 14! 48,546
J| 33,982
& 2,913
Al 11,651
ChE3tEs M A e XAl A 58,912 58,912 0
Jl 41,239
o=t 3,536
Al 14,137
307 2Iz2t0| & 58,912 58,912 0
J| 41,239
o 3,536
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Al 14,137
11T MISRASEX 58,912 0 58,912
OUZIRaIE M LSRN
58,912,000& » 14! 58,912
J| 41,239
< 3,536
Al 14,137
CG23ItE 0138 JIs5s8 ZEMY 29 16,250 16,242 8
J| 11,375
< 975
Al 3,900
307 glz2tol & 16,250 16,242 8
J| 11,375
< 975
Al 3,900
11T MISAASEX 16,250 0 16,250
O0lEN IIZSS3 LAY 29
16,250,000& 14 16,250
J| 11,375
< 975
Al 3,900
St=2HNE2IAY 22,262 0 22,262
J| 15,583
Al 6,679
307 glz2+ol & 22,262 0 22,262
J| 15,583
Al 6,679
1M EXAMEEE 22,262 0 22,262
Ost=0usAg 29 22,262,000& x 14! 22,262
J| 15,583
Al 6,679
ChE23otE OI2AE 29 4,000 4,000 0
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Al 3,200
307 21201 A 4,000 4,000 0
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Al 3,200
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< 800
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< 3,270
Al 5,450
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< 3,270
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< 3,270
Al 5,450
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< 50,544
Al 202,176
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158,800,000 * 14 158,800
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o= 14,658
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